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(A) (B) | Hpklt (B) — (A) (B) /(1)
i = % 1,141, 003 1,132,017 0.2 A 8,986 99.2
i % 2 38,017, 167 34, 367, 405 6.8 A 3,649,762  90.4
55 4 o 75, 213, 992 72,672, 682 14.3 A 2,541,310]  96.6
i A 2 41, 238, 306 35, 622, 049 7.0 A 5,616,257|  86.4
5 i % 1,261, 548 1, 164,412 .2 A 97,136]  92.3
Bk ok E ¥ % 26, 644, 708 20, 750, 002 4.1 A 5,894,706 77.9
] T o 59, 433, 642 54, 647, 601 10.8 A 4,786,041  91.9
+ YN 2 77,543, 795 53, 854, 035 10. 6 A 23,689,760  69.4
% £ # 25, 807, 657 24, 975, 567 4.9 A 832,090 96.8
# 5] 2 90, 605, 486 89, 149, 934 17.6 A 1,455,552|  98.4
$  FH #H B 160, 840 154, 377 0.0 A 6,463 96.0
N & # 59, 846, 726 59, 818, 332 11.8 A 28,394 100.0
B X% H % 59, 070, 419 59, 004, 648 11.7 A 65,771 99.9
R i 2 50, 000 0 0.0 A 50, 000 0.0
&t 556, 035, 289 507, 313, 061 100 A 48,722,228 91.2
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